gooI1ogd
20190 50 140000

¢ 0o0o0O000000oDooOoOU00UoooDOoCOO0dDOO000o0OooooODOoo0000OFatould O
gooboooobooobooboooboboooboobobooooboooooooobooobooboooobooooboooon
obooooobooooboobooooboboon

00 0000000000000000000000 (X,F/p)00000000000000000000
ooooooOo FO0000000

goooo 53, 5-6, 5-11, 5-12, 5-13, 5-14000000000000000000CO0O00O0O0O0DOOO0O0OO0
obooooobooooobOoobooooboooobOooboooobooboooobooboobooono

0o0s-1 f: X—-ROu00000000000000D000DO0O0D0OO
lim n/ log(l—&—M)du(aﬁ)
n—o0o x n

0052000000000 X—-ROpO00000000DOOOOOOODOOODODODOO

1
lim 7/ log(l—&—e"lf(‘”)l)d,u(m)
X

n—oo N

0053000000 0<r<1000dd0 1000000D0O0O0OOODO
() 000 deROOUDODOODDOOOODOOO

1—72

1+2 n 0= —-—v--———
* ZT cosn 1—2rcosf+1r2 —

n=1

(2) 000000000

T 1—r?
——df = 2.
/77r 1—2rcosf + r? T

0054 f:X—>ROp00000000
() 000 teRODOO0Osin(tf(z)0 000000000000
(2) G(t) = [y sin(tf(2)dp(z) DOODOGH) DOO00DDO G'(t) = [y f(x)cos(tf(z))du(z) 000D DODOOD

0055 f: X —[0,00]0 p({z € X: f(z)=00})=0000000000000000000

oo

S (e e xs < s < 2EN) = [ a

2n
k=1

Hint: 000000CO0ODOOOO0ODOOOOOOOOOOOOOOOOOOOOOOOOOODOOODOOOODOO
gooobooboobooboobobooboobooboobo

0056 000 {z,)0000000 ¢t0000 lim, ,eeeV"** =1 000000000000000,
lim, ez, =0000000000
Hint: ¢V~ 0 [0,1] 00000000 400000000000



0057 f:X—ROp000000000000000000 {Ax}neio,.. O lim,_ e pu(A,) =00000
00 limy oo [, f(@)dp(x)=0000000000
Hint: f00000 |f|000000000|f/0000000000000000000000000O

00 5-8 u(X)<oo0DDOOOOOOOOOOOOOOO

() 00000 f: X -RO000000000000

(2)f: X ->ROD00D00D00000f000000000000000000O0O0O0OOOOOOOOO0
00000m

(3) 0000000 f: X 5> R (n=1,2,...) 0 sup,s, [y [fuldu(z) <oco0DDOOOOOO fOO0DO0DO
00000000000 f0000000000000

00 5-9 (X,F,x) 0000000 f0 f, (n=1,2,...)0000000000000000000000O00O0

lim f,(x) = f(z) (Vze X), 0 < lim frndp (= a < 00).
n—oo n—>ooX
1)o0< [y fdu<aDOOD
2) [ fdu=0(¢)0000000000
3)0<p<allUI0D0O0 ,pOO0000ODOOOOOO foduzﬂﬂﬂDDDDDDDDDDDDD

0051000000 f: X —[0,00)00000000000000%m, 0 [y f(2)*dp(z)=00000000
000000 f(z) <1, p—ae. 000000000

00 5-11 (1) {fu}n=1,..0 [0,1]000000000000000000 X2, [ [fu(z)lde < 0o 00000
0, f(r)000000002€(0,]]00000000000000000000d:0000000000
0oo0o
(2) {antn=1,2,..0 30 lan| <ccOOOO0D0OO000{rn}n=1p,..0[0,1]000000000000000C
00000000000000000 %2, a,z—r,/"/?200000000 2€(0,1]00000000000
0oooo

gbs-1200000000000

1 : o]
(1) lim nsmay @ tm [ YT

4‘4‘4‘4‘4*dﬂf X
n—oo Jq 1—|—n2\/§ n—oo Jq 1+ na3

b 5-13a=00c¢>000000000000000000O000O0O0O0OOO

n2g?

o0 2 —
lim wdw.
n—oo J. 1422
00 5-14 OO00O0OO0O0OOO0ODOOO0O0
. o 1
lim dx



